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~ >311 : ~tH" ». ~if-~ 	 # El : -t~t*(..::..) - \ 
~t~ a JJJ : 7 J3 27 a (!l.JJJ]i.) ~ 2 ir 

(A)1Jo11 

- '~~1m (480/0) 

1. 	'~1c0Ei]D~ 101 1f.*)J)frtimT:E:9HMf~JRJR'fc~ 480,000 JR ' 3 Jj 1 B & 7 Jj 1 B 515jUM-1j~Jf 
ij§i: 18,000 JR& 30,000 ij§i: , 10 Jj 1 B~~1j 5% ' OO~$l,OOO PJ"~0Ei]f. 1,000 5R ' :HJ5R 

\J PJ,'~pxiff~JR 60 JR ~0E}f.~m~~* ' ~Ugt.'~1c0OJ 1011f.J:lm~~ij§i:ii~Z0 
< ,~ 

~."~ 5frtimT:E:9~~~JR:JJofff¥~JR'tf.&~Yij§i:? 
(A) 495,000 (B) 510,000 (C) 525,000 (D) 570,000 

2. X41f. 3 Jj 1 B Ij\33:0OJ rtJ!j\~0OJj;JM2j;tfllj'l:1J~j¥Cfll-'§f~EP~ , fllWjj,& 51f. ' T:Efll 
j'l~~fU~ 8%r :ft1!£fllj'l~ii1iJJ1.1l~D~0ft111l~D~$380,000 ' Ij \33:0OJm~11!U.~ 
tl ' PJ~fllj'lTi!J5rliiB~~ $16,400 Wtr~fllj'ljt~pJT~:fI ' ffiJ~~j;t~~fllj'lWjrE:l~~a*8~~* 
1*mJ11H $30,000 0 ~~EP~fligtmm1f.~~ ii~~IfflMt~I\1f.' §tfHj,& $20,000 ' ffiJ/j\33: 

0OJ1*1[~JjtffTfj$ 0 ~Jtrp~ X41f./j\33:00JH!gt~ffTfj.m~~y? 

(A) $50,500 (B) $58,333 (C) $50,000 (D) $60,000 

3. 	 1*m~~1I5tif~§tff~B~ , 1£§t~JJX*bt~tp , r:9ljtJ~-Jf;!lI[OJ8~§1!51£JJX*~~~11 
J~ !*J? 

4. 	§:it0OJ~~ 11f.W~~ 50 f:rrJ~.I.~ 100 .1irZW6JRffi ' §~~ii~Z1~1tf::f*~I.&\~~~~. 
ij~~ 31f. 0 l!:it0-OJfligt~-~JRlIZ0-ft111l~$30 ~ 11f.JOC ' 2 fir~I..~ ,0 

:it0OJfligt~~ 3 1f.1f.JOC~~ 8 fir~I..~ ~ 2 1f.~ , ~ 3 1ir~I.~l~ , T:E~.PJij50 

.~~t~ ,.:it0OJ1ligt~~ 31f.1f.ms~~ 10 1lLjlI..~ , *~5IfsH~;!t~{gJRfl ' ~Ul!:it 
oEi]~ 21f.g{g:9UZ*Jrj;t5z:tB~-f-? 

(A)$38,000 (B)$40,000 (C)$42,000 (D)$50,000 

5. 	 ~*0Ei]~t1~rmrPo-tlt ' §JlI$300,000 ' 1ZSl~~~.~ ,pJTj;Jj;Jt:liffT11~1Ipxjt , 1;&0 
OJ~f§i&~ , ~~ 10 *!*J~~x ' ~'6T 2%JJ1.J:iZffTfO ' ~}JI30 *~*x ~~*0OJf*5'~0 

5~&;g:9U~t1~ , ~U~*51t~~{OJ? 
(A)1ff§c: H!4)(~~X 220,500 ' Jt§c: ~t1~4)(A 220,500 
(B)1ff§c: H!4)(~~X 220,500 ' ~t1~ffTfO 4,500 ' Jt~c: ~t1~4)(A 225,000 
(C)1ff§c: H!4)(~~X 225,000 ' Jt§c: ~t1~4)(A 225,000 
(D)1i~c: H!4)(~ffX 220,500 '~t1~fJTfO 19,500 ' Jtgc: ~t1~4)(A 240,000 

6. 	5~5~0OJ1*j;J1[flfP~,t!j5~~~*~' 0Ei]px:rr~ X41f:mse~{g:9Ij*IP~$1,300,000 0 ~0 

Ei]~ X51f.f)J~~JJ1. ' 1*1[fl)tp~$~!-'*~::ft.g:~~~j~¥&~$~U ~1i5gt*~~~Wj*0 

J1!4)(~~X~~Z 60/0 ' X4 1f:~ X5 1f.~J1!4)(~fflX~~515jrJ~$2,100,000 ~$1,600,000 ' ::f 
~mtpJT1~fYt~~ , ~U5~5~0OJ X5 1f:*)JM-JJ1..llt~$JJiZlIgt51t~J1!1ff~c r ili%Jj)H~m&ili)9iJ3 
m~Z~~~-~g*]i!IEJ ~Y? 

(A) $96,000 (B) $126,000 (C) $48,000 (D) $18,000 

'.. 
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~~ 1:3 JJ3 : 7 A 27 1:3 (.£JJ31i..) ~ 2 iP 	 *1~~~ ~ A~' ~ J{ 


7. 	 ft30-PJ X5/1/1 P)$600,000 ~A~~~5H. ' ~~5t{.f*:!i{r!i{Jif~tB~ 0 tE¥fH)t&~tf%~*tI.~~ 

~5t{.~P) 51f.f*][~*5!mYUtJTtJ ' {r!i*t~91{11 0 ~~~~g5t{.~ X7112/31 fr~*tI.:!i{r!i{Ji 
~$WO,OOO':!i~{Ji~~~.~1f.~Z.mffi~'fimm.g~~••~~.z.m~. 
P)&JI~Jl:t:!i{r!i{l 'Wlg5tf)t*~ 17% 0 ~Fp~ X7 1f.~~~m~~~~~5t{.B~wtJJfPfT1~m~ ?0 

(A) 	 wtJJfPfT1~f)tji~$27,200 
(B) 	}J!JJfPfT1~f)t~~$6,800 

(C) 	}I~pfT1~f)t~m$27,200 

(D) 	}J!~pfT1~m~{1$6,800 
8. 	~-'0-PJ~ X91f. 12 J3 31 Z~~5:t~Jf~~Dr: 

X~ffff}:~F $ 210,000 
~m~ 20,000 
\.::I::.f:fR-±e;g 	 45,000"ffiMX7K 

{*{'i-x~ 30,000 

JEWjffff}: (2 {~J3 ¥UWD 50,000 

ME~0-PJ X9 12 J3 31 ~¥&~Z:E~~&~kJ~:E~~~~~ 


(A) $305,000 (B) $355,000 (C) $260,000 (D) $310,000 
9. 	 ft30-ojf*JfHilJEtmflJgtli, X51f.*JJ*tli~~0-ft{.{11~$500,000 X51f.JftZgt:.~~0-0 

ft{l{11~$620,000 ' ~~1f.~~{*tmflj~f11~~$100,000 '0- mfi~{*~~(mfi 

~)$120,000 'Wlg5ti{W~1~1~5tZtJT:E~*~ 12% 0 g!Fp~gt.Jl&is~.~~¥&Ml~foJ?0 

(A)$50,000 (B) $60,000 (C) $75,000 (D) $100,000 


10.lJ\~~0-PJfr X31f. 12 J3 31 ji~~{.~I.1g~:r&$frjfl' I&1~PX*~$2,000,000 ' If;Z1~ 


WJ~ X11f. 12 f3 31 B 'If;Z1~B~{r!i*tf~m1f.~~~ 10 1f.; {BtE X31f.Jft, EB~$fUflpfT 


±'~B~~~~t~~~ , 0-E]gg~~$fljfl1Jl{J!E?j~m ' :!i{r!i**1~ffl1f.~~~ 3 ' ~1f.5¥ 


:EJl~)frtA~$500,000(~1~fr1f.~~±') , ~iJtI~tJT:EJl*~ 100/0(3 1f.~:flfU:EJl111[?S1T~ 


0.7513 ' 1f.~:E~{J![?S1T~ 2.4868) g!Fp~g~0-PJfr X3 1f.Jft~g;gYU$fUfl)~t~t~~~&~
0 

~? 

(A) 	$356,600 (B) $500,000 (C) $756,600 (D) $1,224,350 
11.flj~0-OjIf;Z1~~pl*trrZ~~1)~J~~ (Non-interest bearing note) ~~~ , OO~$10,000 ' = 

1f.¥11WJ ' ~~fU*~ 9% 0 g!Fp'frj~0-tljJj~I&1~~~~i~~=1f.~~~ggYUZfUJ~,4~A~ . 
foJ? 
(A) $758 (B) $826 	 (C) $957 (D) $69 

1 
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~JJIJ : -t-tt*~;.1f.~ # l§\ : -t"tPf,(.:::..) !sO .... 3 

Wjf}]f¥jt $100,000 

M§jt5$~ 300,000 

~~jt~~},j$~ 600,000 

nx:*1.JOnx:$ 66.67% 

fJli10~BfJ~"{E 10 ~ 31 8~1:~1~X~ , ~~5~Ili~JJ! ' *Inx:* 6,000 7tB'gf¥jtjG~f 

.~o~~m~~$$'~.~X~m~Z~£f¥jtnx:*~: 

(A) $154,000 (B) $34,000 (C) $160,000 (D) $200,000 

= ' X81f. 1 ~ 1 B~jg0~5[11 $645,489 (fl~0ft1J!f~[~$643,105 ' 5t~nx:*~ $2,384) 

B3{flt~ , ~~~~OOfU$ 12% 'jiJM11t$600,000 B3fl~{'F~1Y:.~~{~nx:*1ij:mZ{Jt~1~~' 

~lf:tf.~JJf!:M.1*I~~fU~~ 10% 0 fI~fl~ X81f. 1 ~ 1 8~ff ' X131f. 1 ~ 1 8¥11M ' {1/~' 

B ~a1f.B3 12 ~ 31 8 ' ~jg0~1~m*I~fU?¥)~.W~1ff).ful1J! 0 

~JtfF : ({E:f~JJl5~1jl1jt~B'g/~55?"-f) (12%) 

(A) f.~~~~ 8 B'g5tit-j( 0 

(B) gct-j( X8 1f.~~¥UfIL~)5t1JT5iiil{fl.~~B'g:7}t-j( 0 

(C) gC~ X91f.~~¥Ufrl~,&1JT)M{fl.wfojB35tit-j( 0 

- , Roland Company uses special strapping equipment in its packaging business. The equipment 

was purchased in January 2014 for €10,000,000 and had an estimated useful life of 8 years with 

no residual value. At December 31,2015, new technology was introduced that would accelerate 

the obsolescence of Roland's equipment. Roland's controller estimates that the present value of 

expected future net cash flows on the equipment will be €5,300,000 and that the fair value less 

costs to sell the equipment will be €5,600,000. Roland intends to continue using the equipment, 

but it is estimated that the remaining useful life is 4 years. Roland uses straight-line 

depreciation. 

Instructions (16%) 

(A) Prepare the journal entry (if any) to record the impairment at December 31, 2015 (depreciation 

for 2015 has been recorded). 

(B) Prepare any journal entries for the equipment at December 31, 2016. The recoverable amount of 

the equipment at December 31, 2016, is estimated to be €4,900,000. 

(C) Prepare any journal entries for the equipment at December 31, 2016, assuming that Roland 

intends to dispose of the equipment and that it has not been disposed of as of December 31, 

2016. 
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~t~ ELttJ1 : 7 A 27 a (J.jtJ11i.) ~ 2 ir *t~~# rro *~ , rro Jt 

!ZTI " EfI0EJ:Jj~ X4 if 7 F1 1 El}iitS 50,000 5tH~~*nlT~~~fljjtfj , §~1t\j~~*nlZpJT1=Jfl~~ 
ffiB~Ef~"T~~fljFftj , m~ifJl~5~$120 ' px*~~ $80 E~'g~JtJE~~fljpJj~~~ "7 F1 JOC~0 

~g~~ffX~mZ 500/o{'ftj! , 53 50%IfflJt 6 {~F1M~ EfI0EJ¥A!~~~fljjtfj§J1=J{*m{~ffX ' ~'g0 

JE.lli~.ZE~Z-~1=Jill~.'~~ill~~~~~~ill~.Z25%o53~~~~~ 

~F1msm{~Ef30EJ&'F1Z~flj~ji1f+ ~~flj~ X4 iFZ~flj~'f~55L~D-"f: 7 F1{B 15,000 ~'80 

F1{B 5,000 5fk ' 9 F1{B 12,000 5~ , 10 F1{B 8,000 ~ , 11 F1{B 5,000 5fk ' 12 F1{B 3,000 5~ 0 

X51f. 1 FJ 1 ill:J!(M@~~' ~~~fljmJill:@J 2,000 5tH~m7'6~1fzJi:1'ftj!~ , f&@Jl*M~ 
3:ttfF : EfI0EJ X41f. 7 F1 1 El ~ X5 if 1 F1 1 E3 z{§~m~~~ (240/0)0 

'., '. 

,. 

0 


